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JIERZ | No K 4 SR B EEE AT | Wos | A O EBEI | R R Jigi At
1 2 | /A% KE b Wik B3 EHERGYTITY AT49) 9. 050 1 Vavavd 9. 050 1 18.100
2 15 A M E Rxbe pvb 53 RS SR ATA9) 9.050 | 1 777 8. 900 2 17. 950
3 18 A JII K E wirb kv @3 FERER ST ATA9) 9.000 3 NS4 8. 750 3 17. 750
4 20 | FAjE WA vseLr vesdn 3 EERGYZ 77 AT49) 8.900 6 Vavavd 8. 700 5 17. 600
5 19 # B B 5 vern widw /3 RN S HF R 0—= 9.000 3 | 7T57 8. 550 6 17. 550
6 14 | K B R |(mrbb vwesk| 3 EERGY FT ATA9) 8.550 7 777 8. 750 3 17. 300
7 16 | Bk K HE | Arts zun 3 EERGY ST A74y) | 0.05 | 8.950 5 Vavavd 1 7. 800 14 16. 750
8 9 HnN FFo7e<h F&L 1 (HERGY FT AT49) 8.500 8 Vavavd 8. 200 9 16. 700
9 17 k7 M rE LewAi 13 BHERGITIT ATAY) 8. 300 9 e 8. 050 12 16. 350
10 2 P g S ericl EaE B2 FHEER SR AT49) 7.900 | 10 | rT7 8.350 8 16. 250
11 12 KK WA Ebs OsE W3 JEEER ST ATAY) 7.850 11 257 8.150 11 16. 000
12 1 B[ ERER Eer darss 2 HEERGY TS AF(v) 0.2 | 6.950 14 | 57 8. 500 7 15. 450
13 7 ORIKE vimx csezs) B2 FHEEE SRR AT49) 7.750 | 12 | 25T 7. 450 16 15. 200
14 13 B R E b RT0S W3 TERER ST AT49) 7.550 | 13 | 757 7. 400 17 14. 950
15 11 5 Fe i & =L 2 dRHBESREY T BE A7qy) | 0.2 | 6.850 | 15 | 7T 8. 000 13 14. 850
16 10 | &5 & Mt Eibs | P10 AEESERYI7 Y 2 —> 0.1 | 6.650 16 | JrU 7.800 15 14. 450
17 8 FE K& Lo Osks 2 dHEEHEETT ERE A7y | 0.2 6.650 17 | 7T 7.000 19 13. 650
18 21 | BB MK L WOk B2 TERER SR 0—= 5.300 | 20 | rT7 8. 200 9 13. 500
19 4 LB A K &> 5%k /4 dumEsikems iy a—7 6.300 18 | 7T 6. 900 20 13. 200
20 6 H K W | 72<H | NS AGHEE TR 77 ERE | ATy 5.950 19 | 7T 7. 150 18 13. 100
21 5 B & b AHrow wore /N dMEEHTIAEY T EE . ATy 0.2 5,100 | 21 | 2T 6. 850 21 11. 950
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